






CH1:Displacement p(t) 
∆t = 20 msec 
∆p = 6 mm 

Time:10 msec c-1 

CH1 
2 mm/c 

0 

0 

CH2 
0.5 A/c 

(a) 

CH1 
0.5 mm/c 

CH2 
0.5 A/c 
0 

0 

CH1:Displacement p(t) 
∆t = 20 msec 
∆p = 0.4 mm 

CH2:EVA current i(t) 
∆t = 4 msec 
∆I = 0.45 A 

Time:10 msec c-1 

(b) 

 
∆t = 8 msec 
∆p = 1.2 A 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

CH1:Displacement p(t) 
CH2:EVA current i(t) 
CH3:EVA power PEVA 

CH1 
0.5 mm/c 

CH2 
0.5 A/c 
0 

0 

Time:10 msec c-1 

5W/c 
0 

CH3 

CH3 

∆t = 8 msec 
∆I = 1.2 A 
∆p = 0.4 mm 

f = 50 Hz>fres = 40.6 Hz 

PEVA = 22W 

(a) 

CH1 
0.2 mm/c 

CH2 
0.5 A/c 

0 

CH3 

0 

0 

f = f = 40.6 Hz 

PEVA = 4.2W 

Time:10 ms cec-1 CH1:Displacement p(t) 
CH2:EVA current i(t) 
CH3:EVA power PEVA 

∆t = 4 msec 
∆I = 0.5 A 
∆p = 0.4 mm 

(b) 

CH3 
1W/c 




